Nombres Décimaux (J)

Trouvez chaque somme ou différence.

993 - 0,186 = 0,309 + 330 =
0,157 + 19,6 = 602 - 88,3 =
798 - 49,6 = 761 + 64,7 =
7,54 - 0,676 = 9,65-0,121 =
490 + 4,62 = 605 + 75,2 =
655 - 69,9 = 522+ 13,6 =
5,13 - 0,607 = 89,8 + 0,783 =
1,64 -0,741 = 2,74+ 1,4=
1,8+ 684 = 5,07 +0,152 =
855-0,971 = 0,234 + 348 =
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Nombres Décimaux (J) Solutions

Trouvez chaque somme ou différence.

993 - 0,186 =992,814

0,157+ 19,6 = 19,757

798 - 49,6 = 748,4

7,54 - 0,676 = 6,864

490 + 4,62 = 494,62

655 - 69,9 =585,1

5,13-0,607 =4,523

1,64 - 0,741 = 0,899

1,8 + 684 = 685,8

855-0,971 = 854,029

0,309 + 330 = 330,309

602 - 88,3 =513,7

761 + 64,7 = 825,7

9,65-0,121 = 9,529

605 + 75,2 = 680,2

522+ 13,6 =535,6

89,8 + 0,783 = 90,583

274+ 1,4=4,14

5,07+ 0,152 =5,222

0,234 + 348 = 348,234
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